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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 8.756 2) 3.184 3) 426 4 924
- 4 -1.880 - 1 - 74 2.
3.
4.
5 4.660 6) 8.878 077 8 48 >
- 603 -3 - -9 6
7.
8.
9 9.857 100 926 1) 27 12)  7.560 9.
-1.924 - 832 -23 - 482
EE— EE— — — 10.
11.
12.
13) 656 14) 3.617 15) 4.598 16) 591 13.
- 2 - 49 - 6 -423
S S 14.
15.
16.
17)  4.784 18) 642 190 537 200 715 17
- 69 - 68 - 58 - 9
18.
10.
20.
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 8.752
1) 8.756 2 3.184 3 426 4 924
- 4 -1.880 - 1 - 74 , 1304
8.752 1.304 425 850
3 425
4 850
5 4.660 6) 8.878 77 8 48 > 4.057
- 603 -3 -5 -9 s 8873
4.057 8.873 72 39
- 72
8. 39
9 9.857 100 926 1) 27 12)  7.560 o. _ (.933
-1.924 - 832 -23 - 482
— — — 10, 94
7.933 94 4 7.078
11, 4
12 7.078
13) 656 14) 3.617 15 4.598 16) 591 13 654
-2 - 49 - 6 - 423
654 3.568 4.592 168 4. 3.568
5 4592
16. 168
1) 4.784 18) 642 19 537 20) 715 7 4715
- 69 - 68 - 58 -9
4.715 574 479 706 18, S/4
10, 479
0. 706
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
72 94 7.078 39 7.933
850 4.057 8.752 4 8.873 1.
425 1.304
2.
1) 8.756 2) 3.184 3 426 3.
- 4 -1.880 - 1
- 4.
5.
6.
7.
4 924 5 4.660 6) 8.878
- 74 - 603 - 5 8.
9.
10.
11.
n 77 8) 48 9 9.857 12
- 5 - 9 -1.924
100 926 1) 27 12)  7.560
- 832 -23 - 482
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